1.

90, 24 x 3 x 59 ©] HTj B

@D 2x3x%x5 @ 22%x32x5

@ 2% x3x5? B 23 x 32 x 52

@ 22x3x5%



3MTh6 AL S8 a, 5 k2 2 58 b, 1 Hrf 222 5 S

S & a+ b+ ¢ E Foloet

@® -5 @ -3 ® -1 @1 ® 3



3. o

Ulo

Z A4 A7} ok

o vy 8].1/]_%?

i

@ -2+ (+4) b s
® 3+(-5)

& 745
© (=3)+(+1)



® (-5.6) — (-4.7) = -1.1






oh& A (20-3) - (-3a +3)

® 5a-6

—a

® -a-6

D a-6

@ 5a



@© 2x+17

2x+ 17
® 12

x+1




8. HAHA 05x-1.2=0.2x+039 = 5t ?

D1 @ 2 ® 3 @ 4



9. 100L E°] o j& xL A =& A2, 2 715 A=
AZHe y Holt}, o] uff, x 9} y Ato] 2] TAAL-92

_ 100 _ 200

@y @ y= . ® y=100x

@ y = 200x ® y=250x



o g5to] the AL shofet.

721 % (=6) 4+ 7.21 x (-4)




